920 B H BT A& BEEE A

(HfL: TH)
BE B 4y 4 4 Bl K 4y 4 & gt
(A E] & T DR/ 55 4R) (E %) (WAL 3 8 +-4 [T L 23 50)
140, 115, 452 2, 446, 990 142, 562, 442
BOER E 4 )i BT | STk 128, 221, 471 2, 446, 990 130, 668, 461
> B AR IS5 11, 893, 981 0 11, 893, 981
(D BB ) 875, 475 0 875, 475




55 20 EEEZAREISHERIER

(B M)
B2 2 8% = 2 | wERESEZ
&= E B 3 x & B 5 @B # @
(BIRBIE 280 ) 1,786,613 660,377
C-7 | KEXARFAERERBRHEEOKELEARFIBAER. GBER. KRREHEERRERS) 1,786,613 0
D-17 | HMBERERESE (K THMEHE T HhXEERBELXE) 0 660,377
&t 1,786,613 660,377




[E AR 304EEE )

EEZMREISTEREHRKIIIET)

55 20 @

(B FH)
EREREEES
B £k S0 |oanisten| meam | 520 s
2% BT & ERES EER BREER e RFEE | B/ EE® bIE3 EE LA 0= | cEecoma B 58 REiE 1
BRR amyimen (E#) i
Ci-%8
KA REEEE KELAAHAE |05, R
= s JKEE EH F FI B a1 ] OKEFRLRFIA EEN i
EHE % )II8T c - 7 L)IBKEMI TISRHEE BRI h I A ) (BR) . NGt g HiE 1/2 2,598,710 2,273,872 0 1,786,613 1,786,613
X
EHE | &NE |e D - 17 |STSLRERESREBERHED TIREREEEFR(ITHLARLOKEEES |y B Ei ar5 469,485 469,485 0 375,588 375,588
ERE ZJIET (@ D - 17 [KEFEEHISBHEIRDAUIEE ig)ﬁm’z@%gg#(*&ﬁmﬁiﬁﬁﬂiiﬁzﬁggg sl &R fth g =23 4/5 355,987 355,987 0 284,789 284,789




